1.5 Human and Pollution
Faisal Eraiqat
1. The following graph shows the annual percentage change in use of inorganic fertilizers in developing countries and western Europe between 1961 and 1999:
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(a) Compare the changes in fertilizer use in developing countries with those in western Europe, as shown by this data.






 (2)
In developing countries, they changed fertilizers much more early on around the 1960’s, but over time they did not change as much and was more steady on the changes. Western European countries have been steadily decreasing their use of fertilizers until the 1990’s where the started to change fertilizers uses and then stayed less than 5 percent. Inorganic fertilizer is a pollution, so that is why Western Europeans countries, who are more developed, use it less often as they understand its dangers rather than the Developing who have less of an idea and also do not have the ability to use better fertilizers. Developing countries are also more reliant on agriculture, so they need to grow as much crops as possible. 
(b) If a typical developing country were using 40 000 tonnes of fertilizer in 1969, use the graph to estimate the quantity it might have used in 1970.




(2)
around 37,000 - 38,000 tonnes
(c) Explain how the use of inorganic fertilizers might be described as “pollution”.

(2)
Inorganic fertilizers are described as pollution as they are a big danger to water. It can cause algae to rapidly grow. The dead algae are eaten by bacteria and that removes a lot of the oxygen so most living organism will die. It can also cause crops to die, release dangerous toxins and hurt farmland.
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(a) (i) Define the term point source pollution. (1)
Point source pollution is released from a single and easily traced source and easier to manage as the source is known such as factories releasing smoke 
      (ii)State one human activity that may cause eutrophication and is an example of a point source of pollution. (1)
Run off of the pesticides into water sources
      (iii) State one human activity that may cause eutrophication and is an example of non-point source pollution. (1)
pesticides from the ground
(b) State and explain which type of pollution, point source or non-point source, is easier to identify, control and eliminate. (1)
Point source is easier to identify, control and eliminate as its source is known making it easier to control emissions. With the cause of pollution known, stopping it is easier and managing the issue is simpler.
(c)Outline one method of direct measurement that would indicate that a lake is becoming eutrophic. (2)
Measure amount of algae
(d) Outline one method of indirect measurement using a biotic index that would indicate that a lake is becoming eutrophic.






(2)
measure the abundance and diversity of species 
(e) Describe and evaluate management strategies to restore a eutrophic lake.

(4)
precipitation to remove the phosphates in the area, removal of nutrients which is to enhance the sediments of the lake, and removal of biomass and use It for fuel.
(f) Development of a tourist resort near a lake is proposed. Outline strategies for determining the environmental impact of the development on the lake.



(2)
Look at the amount of waste being produced by the tourists, amount of pollution being dumped into the lake, record eutrophic levels, controlling the area. To prevent pollution, make rules, and set alternatives that will reduce pollution.
3. Most members of the group of insects known as bark beetles infest dead or severely weakened trees. A few species will attack and kill living, apparently healthy trees. An area of healthy trees was sprayed with a pesticide (DDT) to control the bark beetle.
(a) State whether the spraying of pesticides is an example of point or non-point source pollution. Explain your answer.





(2)
nonpoint solution as controlling the situation is much harder. The chemicals have spread and fixing it is difficult. Monitors must be set and limits which is expensive and harder to put.
(b) Outline one direct method that could be used to monitor the level of pollution from spraying pesticides as shown above.






(2)
observe the acidity of rain in the area.
(c) Suggest and evaluate a strategy that might reduce the impact of pesticides in the environment. (3)
 removing the pollutant to reduce its effects (biotechnology), restocking the lost populations from the pesticides, maintain healthy soils to make the plants healthier. 
The graph below shows the residues of pesticides in four different crops, 3 days, 7 days and 14 days after application.
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(d)



(i) Describe the data shown in the graph.



(3)
 potatoes and tomatoes have little residues of pesticides, while lettuce and pepper had more. Lettuce had the most after 3 days but significantly dropped after 7 and 14 days. Pepper rather increased every day.

(ii) Suggest one implication of the data shown in the graph for the human consumption of these foods. 






(1)
potatoes have the least amount of pesticides and quickly are removed. Lettuce have a lot at the start, but quickly reduces after a week and continues its declines. Pepper has the most all around, and is gradually increasing. The biological magnification is greatest in peppers as is increases as it moved along the food chain, similar to how the graph shows the pesticides increase.
4. Nature of pollution

a. What is pollution? Provide two examples. 
is contamination of the Earth and atmosphere to such an extent that normal environmental processes are adversely affected. Polluted elements are disagreeable, toxic, and harmful. Two examples are organic or inorganic substances, and light, sound or energy pollution. To be more specific, burning of fossil fuels and releasing toxic gasses is an example, and so is throwing waste and 
harmful agents into water causing eutrophication.
b. What are the two main categories of pollution and how are they different?

Point source and non point source. Point source is when the cause of pollution is known and can be easily solved while non point is from various causes and harder to track, and harder to to control.
c. Identify three major sources of pollution in the world? 

Combustion of fossil fuels, domestic waste, industrial waste
d. Identify one consequence of pollution. 

Releasing dangerous toxins and greenhouse gasses, destroying ecosystem
5. Approaches to pollution management

a. What is the name of the model we use to approach management issues in pollution? 

Global Environmental Monitoring System
b. Identify one pro and one con for the use of DDT in LEDC’s. 

Pro: kills mosquitoes and helps reduce chances of Malaria
Con: causes cancer
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